
Name - ID
Design and Analysis of Algorithms CPSC 413 Winter 2018

Department of Computer Science
University of Calgary

October 16, 2017

PROBLEM SET #[1]

Problem Marks

1

2

3

4

5

Total

Problem 1. [Solving World Hunger]

Your answer here.

How about some math: a ≡ b (mod n).

Or you can display math:
n!

k!(n − k)!
=

(
n

k

)
(1-1)

If you don’t like the equation numbers:

n∑
i=1

i =
n(n + 1)

2

−→ Answer

Problem 2. [Desirable properties in crypto software]

Let’s list some:

• Efficient

• Secure
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• User friendly

• . . .

−→ Answer
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